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Present Day Admissions Hypothetical Adult Version
3 People
Total Carbon Footprint: _
10.00 tons Total Carbon Footprint:
- Equivalent to 143 39.90 tons
trees
Hose Hold 67 trees Hose Hold 289 trees
Per Capita: 96.3 trees
Transportation 44 trees
Transportation 73 trees
Travel 32 trees

Per Capita: 24.3 trees

Travel 22 trees
Per Capita: 7.3 trees

The reason why why my carbon footprint is so much higher in my adult version is because there are more people involved,
so more resources get taken up. Furthermore my living style will be much more different as | grow older such as a new
house and vehicles which is why my carbon footprint drastically increases.



